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4. BESPT - fEE PR
(1) BESPT - ) ZHWR ¥ —iEtd (LUT : WiRS)

(2) FHEHE

(CRFER R A3 HE)
<O0~9 Hifi> : BEI VAL RL A« —UHE (99 em X 55. 3 em=5, 474. 7 cni /2 : FEfA (16 1))
<10~105 Hfin > : I U AV RL A« — U8 (99 cm X 55. 3 ecm=5, 474. 7 ci /2 : FEfA (8 )
<106 HELIE> : I U4 RV A « F—UH4% (24.1 mX39.5 cm=952 cf /5 : Hifi)

(R AZHE)
<O0~9 Hifi> : BEI VA RL A« 7 —UFE (99 em X 55. 3 em=5, 474. 7 cni /2 : FEfA (16 1))
<10~71 Hiis> :BI A FL A« =88 (99 em X55. 3 em=b, 474. 7 cit /2 : EAH (8 %))
<T2 HERLIFE> I A FL R« A — U84 (30 cm X 45 em=1, 350 cif /38 : Hifid)

(3) a5kt

(FPERFHZCHE) 0~ 3l = 3 5> A& (ME2, 900~2, 980kcal/kg, CP20~22%)
4~ Tl = B35 HERESEE (ME2, 800~2, 850kcal kg, CP17~18%)
8~14 s = K3 5 HEESETE (ME2, 750~2, 800kcal/kg, CP14~15%)
15 AE LI = ik % AR SR (ME2, 830~2, 850kcal /kg, CP17~18%)

(REUESAZHE) 0~ 3l = 7 o HELE R (ME2, 900~2, 980kcal/kg, CP20~22%)
4~ Tl = B35 HERESEE (ME2, 800~2, 850kcal /kg, CP17~18%)
8~19 s = K3 5 HEEETE (ME2, 750~2, 800kcal/kg, CP14~15%)
20 WA LIFE = Rk B MRS R (ME2, 830~2, 850kcal /kg, CP17~18%)

(4) SITEH .

(FFER S 2CHE) 0~ 13 Bl = 24~20 FER AT (15 Lux)
14~ 27 A = 18~16 B[ S4T (10~5 Lux)
28~ 41 Hifii = 14~12 BFf 44T (3 Lux)
42~111 H#E = 10 B AT (3 Lux)

112~216 H i
217 Hify LI

10 FFfE 30 43~ 13 W 30 43 24T (10 Lux)

14 BFf] AT (10 Lux)

(KTUFBAZHME) 0~ 13 Hiln = 24~20 FERIAAT (15 Lux)
14~ 27 A = 18~16 B 54T (10~5 Lux)
28~ 41 Hifii = 14~12 BFM&4T (3 Lux)
42~ 71 B = 10 BEREAAT (3 Lux)
72~132 Hifis = 10 BFREA4T (15 Lux)

133~181 H i
182 Hiim LAK: =

10 FFfE 30 43~ 13 WS 30 43 24T (15 Lux)

14 BEf]AUAT (15 Lux)



